Decimals

Exercise-1
-] 9 19 157

._.,..._._._.._._..._

© 707100 10" 1000

¢ 1
(@) 3 D o 9x—=9x0.1=09

10 10
(b) %foﬁ—‘sxm 0.5
© 75 =15 =71x =t =71x01=7.1
(d) 14%=—1%23—‘143 |
(@ —5=015 ® {(f—o - 073
() 3%:%—3:317 (h) 42 130 %—42.03
) 1102070 =0.127 ) o= 0519
s
. @) 0.3=% (b) 0.7= 17;) (c) 0.45= 1‘;5(’)
() 0.092= %55 (e) 2%%:2— (f) 3.08= :1333 ;3130
(8 15.008 = 1150%%8 S 10%0
9217 170
(1) 92.170 - 10000 =92
. @ 1.3 ~(b) 0.008 () 25.342 (d) 15'8.'058 ,
€ 75225 () 4503 (g) 99.99

+ (a) Nmety e1ght hundredths (b) Three and 51xty two hundredths
(¢) Four hundred flfty seven thousandths » ; :
(d) Nineteen and two hundred flfty six thousandths
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(e) Eightand seventy five thousandths
(f) Five hundred thirty five thousandths

) Two hundred twenty two thousandths

8 e thousandths

(h) Ninety nine and ninety nin
(i) Eighty five and eight tenths

(j) Twenty three and fifteen thousandths

(k) Forty eight and forty five hundredths

(I) One hundred sixty five and twenty seven hundredths

Exercise-2

. (@) Placevalueof 6=6x1=6,

Place value of 0=0,

1 3

Place value of 3=3 xﬁa=m .

(b) Place value of 1=1x10=10,
Place value 0f 9=9x1=9,

Place value of 2=2 xl = = i
10 10
1 D
Place value of 5 =5 x—=—,
100 100

(c) Place value of 4 =4 x 100 = 400,
Place value of 3 =3 x 10 = 30,
Place value of 5=5x1=5, '
Place value of 0 =0,

1 7
Pl lueof 7=7 x—=—,
ace value o X 100~ 100
1 5

Place value of 5=5 x = :
1000 1000

(d) Place value of 1 =1 x 1000 = 1000,
Place value of 7 =7 x 100 = 700,
Place value of 3=3 x 10 =30,
Place value of 8=8 x 1 =8,
Place value of 1 =1 x-—1—=~}- i T e
e

Place value of 3 ='3 x—-— = —
f»ﬂ~10Q‘;100,
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(e

(f)

(g

(h)

Place value of 5 =5 x WL__ 4 5

1000~ 1909 *

Place value of 3 =3 x 1000 = - 3000,
Place value of 5 =5 x 100 = = 500,
Place value of 4 = 4 x 1() = 40,
Place value of 7=7x 1 =7,

Place value of 1 =1 A1

— ey

10 10’

Place value of 8 = 8§ « 1 _8
100 100
Place value of 7=7 x 10 = 70,

Place valueof 2=2x1=2,

Place value of 0 = ( x % =0,

Place value of 7 = 7 xi = L

100 100
Place value of 5= 5 1 e QT
1000 1000

Place valueof 1=1 x 10 =10,

Place value of 1=1x 1= 1,
1

Place value of 0 = ( x 1—0- =0,
Place value of 0= x—1—=0 ;

b)

' 1 5

Place value of 5= 5 x

Place value of 9 =9 x 100 = 900,

Place value of 2 =2 x 10 =20,
I’lace valueof 7=7x1=7,

1 7
‘Place valueof 7=7 X = 10 =10

.
P oi 2 S T

1000 1000

. j(de'cir'na,l'fofm =

& "(f‘raction f'orrh)' :

‘_A._l.l—.- AT "\
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1.

(b) 32.54 = 30+2+0.5+0.,04

(c)

(d)

(a)
(b)
(c)

(d)
(e)

(f)

(a)

(b)

(c)

(d)

L e —— /ﬁ

(decimg] for

5
= 30+ 2+ —+ _4_ .
10 100 (fraction fOrm)
247.06 = 200+40 +7+0.06 (decima] form,
6
= 20 + et h
0+40+7 + T (fraction fOrm)
0.875 = g8 +0.07 + 0.005 (decimal fOl‘m)
© 7 5
=10 + 100 +m (fraction form)
3 9
40+5+ — 4 7 _ -
10+ 1000 40 +5+ 0.3 +0.009 = 45.309
900 +20+9+—— 4 _2_ _900+20+9 +0.09 +0.002 = 929,09
100 1000
70+2+i+i+—3—— =70+2+0.1+0.02+0.003=72.123
10 100 1000
80 + 2 + = ol + 2 80 + 0.2 + 0.04 + 0.006 = 80.246
10 100 1000

300+20+1+0.1+0.02=321.12
50+5+0.5+0.05+0.005 =55.555

Exercise-3

Maximum number of decimal places in given numbers is 3.

Thus, each of these decimals have to be converted to decimal
with three decimal places. :
5.8 = 5.800, 79.25 = 79.250, 0.008 = 0.008

Thus, 5.800, 79.250 and 0.008 are like decimals,

Maximum number of decimal places in given numbers is 3.
Thus, each of these decimals have to be converted tq decimal

with three décimal places.

0.6=0600, 3519=3519, 538=5380, 07050

Thus, 0.600, 3519, 5380 and 9.700 are like decimpy,

g each decimal nu_mbervto decima] with 3

.n - 9
Convertl deirial

es, Weé gEt ‘ o :
RIS o0, 0.07=0070, 3ZEER00Z. ¢ o i

Thus, 1.800 0.070, 3.200 and 2.026 are like decima]g
us, - ’ . ; s s
Converting each decimal number (o decimg) with'3 fosvt

i 3 : €cimal

.

t ‘ :
s, we 8¢
RIACt @ 2
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1-9.100, 3137 =3

’ 9,100, 31.37 1.370, 47506 =47506, 130358 = 13

Thus, 9100, 31.370, 47.506 and 130.358 are like dec et
WVOV0 are like ae

) The whole number part is preater ; okt
i greater in 53.7 than to 35.7.
(b) Converting into like decimals, 19.705 - 19.705.19.75
Y .705,19.75 — 19.750
As the whole number parts are same, we compare the decimal :
gince, O hundredths < 5 hundredths ) oA pars
- 19.705<19.75 .
(© Converting into like decimals, we have 0.0
, .01 =0.010, 0.010=0.010
- 0.01=0.010 : |
(d) Since whole number part is greater in 88.88 than to 8.88
- §.88 <88.88 '

3. (a Arranging the given decimals in place value chart, we have

g, @

Decimal number Ones | Point | Tenths Hundredths |Thousandths
63 6 5 3 0 0
24 2 4 0 0
5.37 5 : 3 7 0
8.14 8 1 4 0
6.03 6 0 3 0
value, we have decimal

ing to the place
g order as 74 <537<6.03<63< 8.14
chart, we have

Comparing accord
numbers in ascendin
:ven decimals in place value

(b) Arranging the g
Decimal number | Ones Point | Tenths Hundredths Thousandths
0.9 0 9 0 0
0.009 0 0 0 9
009 .. 0 0 9 0
£:9.09 9 . 0 9 0
e a0 ' 0 | s 9 ‘ 0% ;|
Comparmg according to the place value, W€ have .

0 <009<09<099 <3

e

‘-.:,c.AlTerm-Z) ‘
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{g) — =3.666

7
(i) 8—=—
1) 2

4 54 5ix4 D0 | g

T 100 100

Exercise~5

49
(h) isdas. 0
1 4.083

;A_‘;.‘ ‘ 10

4.083
] 2; 49.000
—48
100
-96
40
-36
+

16 : |
——=2+0.16=216
100 :

(h) 24?+$28 1975

0 @7 S
o

O’-’:!J

4
a2
?

: G
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(d) 325.8+89.097+0.78=415,

(c) 16.468+31.03=47.498
16.468 %)
+31.030 389'0‘9’g
47, '
- + 0.780
“415.677
(e) 111.111 +11.11 + 1.1 +0.001 = 123.322
111.111
11.110
1.100
+ 0.001
123.322
(f) 153.6+96.87 +8.974+0.13=259.574
@
153.600
96.870
8.974
+ 0.130
259.574
2. (a) 1.7-055=1.15 (b) 53.72-38.4=15.32
oD
1.78 ' BX.72
-0.55 -38.40
1.15 15.32
(c) 2.015-0.78=1.235 (d) 4.01 - 0381 3.629
@ @) @
Z@X 5 « e ?
-0 780 ""—0'38]_
1.2 35 3.6 25—
(e) 33.6- 3637 29963 () 100-86.713=13 2&; |
ol
4t Xﬂ,@ @@
4 8 19’
L 8 7
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@ 2.05- 038 1.67

(h) 3.6-0.63=2.97

2 . @Qg@ @ %
X . 6W
-0 .38
e -0.63
. 2.97
@) 1.19-0.72=047
@ @
X . X9
0, 7 2
0.47
3. (a) 16.468+3.03-12.97 = 19.498-12.97
= 6.528
| @
16.468 . 19. %9 8
+ 3.030 ~12.970
19.498 6 .52 8
(b) 76+31.75-72208 = 107.75-72.208
| = 35.542 _
©) (©O]D) @@
76.00 XO7.758
F 8 g e pETHE T 70 g 8
107.75 3 5 .5 4 2
(¢) 777-77.7-7.777 = 699.3-7.777
= 691523
@O
®®® ' QW
Ty F N 6995.3F30F
R Gl A A e &
69 9.3 691.523
(d) 829-3255+21.728 = 850.728-325.5
= 525228
- @
?'9.000 8,5’ 728
o107 2 8 -325.500
50.728 5 720 Bt 22328
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(e) 205.3-34.76-8.99 = 170.54-8.99
= 161.55 @
9
OO @O ®
200 299 | 79?
- 3 4 . 7 6 - 8 . 99
170 .5 4 161 5%
— 23
() 0.176 +27.46 - 24.675= 27.636 - 24.675
= 2.961 @
® ® ©0
0.176 2.7 .63 6
+27 .460 -24.675
27 .636 2.961
L 0® 8
Ay .00
-25 .56 ‘
14.44 14.44 should be subtracted from 40 to get 25.5¢,
5 @
5. The sum of 43.57 and 24.055 = 67.625 4 3.570
+2 4 .05 5
676 2 5
& 60
®
6. VD A '
-5 6 .48
1°3% 5.2 13.52 should be added to 56.48 to get70
@@
7, 9 6 .72 5
- 45.050 | _
5 1.6 7 5 96725should be decreased ‘e |
AL . 45 by 51.675 to get 45,05,
5 Total distance covered in the ‘hreedays =(24+355+27 :
? 40 oo 567 km S
+ Yt 2 il -t S
______________.———-"-" e P i R : . e PR
g . 67 ‘-»,So,MrMishra.mlkedSé hé e
s-4 (Term-2) D _mthg threedays i

~Mathematic
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Total money spent by Kajal = ;
=X12590+ 7
0 28.75 +%11.50

125, =%166.15

o O O

+ 11.

9
28 .7
5
1

5

166 .

10.

1. (a)

(b)
(c)

2. (a)

(b)
(c)
3. (a)

(b)

(c)

50, Kajal spent 3166.15 in all,
Height of Neem tree =412 m

Height of Gulmohar tree = 5.4 m
Difference in heights =54 1 - 4.12m

=1.28 m

So, the difference in the heights of the two trees is 1.28 m.

Exercise-6
1 paisa 1 ru < 0.01
e ee=X 0.
palsa=100 P /

.. 44 paise = ¥ 0.44
22 rupees 72 paise =% 22+3 0.72=% 22.72
230 rupees 50 paise =% 230 +% 0.50 =% 230.50

Imm= i cn=0.1cm
10 -

S 9I8mm=98x0.1cm=9.8cm
72mm=72x0.1cm=7.2cm
27mm=27x0.1cm=2.7 cm
100cm =1m |
1cm-—~1—éb~m 0.01m
45cm=45><001m 045m
68cmw:68‘5x‘001m==068m s vl
24m 75 cm = 24‘1;11 + (75 X O ()l)m; 2 |
__24m+075m G

=24.75m

CA el e
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4. (a)

(b)

(c)

5. (a)

(b)

(o)

6. (a)

1000 m=1km
I m= ~-~~]-~ km = 0.001 km

1000
. 5km205m=5km+ (205 = 0.001) km
- 5km +0.205 km
= 5,205 km

9km 119 m =9 km+ (119 0.001) km
=9 km +0.119 km

=9.119 km

10 km 100 m = 10 km + (100 % 0.001) km
=10km+0.1 km

=10.1km
1000g=1kg
lg= —l—kg=0.001 kg
1000

. 570 g=570 = 0.001 kg=0.570kg
6kg230g=6kg+230g

=6kg+(230x0.001) kg

=6kg+0.230kg

=6.230kg

19kg110g=19kg+110 g‘
=19kg+(110x0.001) kg
=19kg+0.110 kg
=19.110kg

1000 me¢=1¢

Imé= - {= s
"= 1000 '=0.001 ¢

- 455 mé =455 x 0,001 £= 0,455 ¢
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E () 60275 ml=6(+275m¢
| =60+(275%0.001) ¢
=6(+0.275 ¢

=6.275¢
(0 46ml =46x0.0017=0.046 ¢

Mental Maths Corner

1. (@) (iv) (b) (iv) (0) (iv) (d) (ii)
7. (a) True (b) False (c) False (d) True
(e) False (f) False '

Review Exercise

7 1
1. @ -—-=0.583 0583  (b) 2-0.166 0.166
12 12)7000 6 6) 1.000
—60 -6
100 _ 40
-96 , -36
40 40
—% =36
4 ' 4
63 5 0.625
(c) 00 0.63 (d) o 0625 =00
48
20
-16
40
i Loy
0
2 (a) Place value of 3in 108.73 = 3 x B S oin
; 100 100
(b) Plac : ax L o2
‘t‘t ?alue Zr_m 17 Q23 2% 700~ 100
(©) Place val n0: = 3 213
alue of ; ;m0.368 | xm e
(d) Placev 1 f ol i b
Fasoriime 1000 1000
&2Zn Matharanbdlan 4 1+
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[ s e

) oot o 7 (fraction f
3@ 777 = 7 00 ' o
w7 +0.7 +0.07 (decimal form
wrts a6 2. 2L 1 (fraction foy
(b) 6231 = 07567 100 1000 S
~ 6+ 0.240.03+0.001 (decimal fory,
@ 11013 = 114 __‘_,__}.._ | (fraction forp,
¢) 11.0L 100 1000 )
=11+0.01+0.003 (decimal form)
(d) 8502 = 8 + _§_ + -——2——- (fraction forrn)
e 10 1000
=8+ 0.5 +0.002 (decimal form)
1. @ > (b) > (o > (d) =
(e) > (f) <
3649 516
5. (a) 3.649="— 5.16=—=
5. @) 1000 (b) 100
123 11479
123=""2 d) 11.479 = ——
(c) 100 (d) 1000
(&) 33332 B 0124=-
) S 1000 1000
1243 6708
h) 6.708 = ——
() 1243=" t) 1000

6. (a) 29+0.67+6858=7215 ~ @ C;) %)
6
5
1

7. (@) 192.01-157.07
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() 512.007~275.72=236.287

033 &
rre 90,
278 . 72 0
236.287

g, The weight of potatoes
= Total weight — (weight of onions + weight of tomatoes)
_ 12.552 kg — (3.55 kg +4.75 kg)
= 12.552 kg -8.30 kg =4.252 kg

® @ O] ®)

3 .55 X2 .55 2
PRV AR TS - 8.300
+8 .30 4., 2 5.2

MathS Lab Activity

Fraction Decimal
20
0.20
100
35 035
100
16 0.16
14 partspink | il 0.14
L PPN oot 100 :
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